IEBERUNAEF=AR

MIEHINERER
O
r—F NV s LAy

o=

(1Y) ¥=rrxzvy va i
ML Ry WMo ©y
* - A LI
DI L T R
Jue=F e -y ZellRY
U Pz Fae s b A
T e (I AT 20
UL "o —yma—F
el LB YR SA LT
BOGE

(2) "meveo - R O

N EoIBeLET 50

(3) Mo CHIZRG 3 T80 15004
Hre

2008 BHE L LA Y DL A%

Rk O F T L Cp R K

/‘%b} 45— TP wWoem ot~ ¥y 7

MOE

— 19 -



IBFHENAET AR

4) Trwoswe—a-F, CHASUTET DR,

=

4

() NS Tl ) 1 il

£70 P ORI o> S

—_— 0 —



IEBBRANEELT-RE

§
¢
;]

,4&1 W
L

z

Z

. \

-y

7

<
etk

A

3
.
DN

e 7

i

77

A
7=

5!

| P &y

A L &

g0L LSTAEE L R, Dr

ek e N
W — QWQQ

o

h b
T g T
5 Ny N ] ;
Cl L —— . W%
- T T — T T T [N )
- \mu\\rmmﬂ&\\nﬁ e @Qwrmm@wa%« - \VW.Q% T R @1#‘ i »WM*‘WMI HWR
waly & (e EHHFN g Bk

BE - us 0w me w2 EEn (9

i

— 21 —



rEBgmaNEE+=AR

ven g
ol
L 2
1 |

f (¥}

e Hm LR
FI R R A AT R T

S ¥ ) P

&SI

§gln

a & BN xgéjf
i

Fon-Ral
o

- & SBo -

E R W B X

. m K (rvx
i I : _ )
[ 60.964 3l 45.7 45 T2% -3l
n K[ v-vr B 77
W Ho 16545 T 1538 1034
I K15 Il ‘; fil fil
R EBELEEESR
No 2
fi 3 N it 1 & 4
L - o | T o
7o~ v 60906k 2 % 30 9('»43’,00{» 61.528000
B i 1 19.951000 | 19.9521000
i by L 3 : 4800,000

* , ~ [




TEBHRBMEET_AR

o Ay

I ¢ /tézﬁiﬂ : @Q%‘ﬁ___

L2y

i

SV &
$ 1)19 @r g

I 7 Fr

w s
<

T SR =%

i
@

- 1220 -

P2

e N
o

_rsoft @sonkt

(e
b v

& o H
FE Iy ArHEE

INITRF "y N B

— G

! ‘\ A
o A D etk
At A8 SE
% TR R <
B ad%m - e %4% &ﬁlg‘% R :
o GRY oy, 3= B - . -
: ) : AL }%?dé NaPAT -
AN EY) %F a%'!
- ™~ - & NES ¥
. lr 32 1.4 /R,ﬁ)A
7 o AT Ao
] A h Y it #450
P i, g fﬁé LT kA LR
- 7 Y
BT S W e s ]
vo=m o ¥ B K @
. WwBE I EEBE RN E R
No 3
T M oM T S 4 L A fiff 0 #
MEO0OC KRS 3 17 646 000 55.332/000
W RATRE WL W 1 12434000 12434 000
. , 1 | | S i
Moo W BT | % 176 7500 1.320/000
- ! ; j—
AL B L | il 356 2500 xsmjow
R
;f,.J T A 176 9500 1.672.000
lnl R /G fil 176 2000 | 3531000
|
J
5t 52 000000

o9

— ey



TERIBMEET AR

Bté A
é;unlﬁf?@ B

ZHxH
T
g s &
1 K 7B
gg‘“ﬁ"‘ > Zlg
4 L
7 / 7
A
4 2

el {2

/\E!

¢ 2 23 27 >
B P4
ZAt-—B
=] -
Hg‘ AN
24 »
~
S
37,
ZA+=n
nﬁTn?f; N

(8 »r—rr=xvyy

ZRtEE
/ B;ﬁ ke g‘

R R s R
’y“‘“".‘u" ;‘.“z‘.'!i\‘"’ur‘“' :

fm:l/ju I (55
THOL ES - HIAT R

=ZAtta
X 2N

[ % & ]
EATNE
=
N
° T2 >
L vk )
A4 m
H;x

A\Fm

E(‘f‘%fﬁ%‘

— 08

%/f’q
D

EICG =3




